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1.HOTSPOT 
Click on the colored box that corresponds with the line that best represents Unicast traffic flow. 

 
Answer: 

 
 
2.Which two options are the Layer 3 Routing protocols? (Choose two.) 
A. BGP 
B. LLDP 
C. OSPF 
D. MPLS 
E. 802.3ad 
Answer: A,C 
 
3.Which command can be used to find the serial number of an Aruba OS-CX switch? 
A. The command inventory 
B. The command version 
C. The command show running-configuration 
D. The command show system 
Answer: D 
 
4.Refer to the exhibit. 
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Which command produces the above output? 
A. show interface port 1/1/10 trunk 
B. show vlan port 1/1/10 
C. show trunk port 1/1/10 extended 
D. show interface port 1/1/10 switchport 
Answer: C 
 
5.Which statement is correct regarding powering an Aruba Access Point? 
A. PoE or PoE+ is only used with Ethernet that is carried over multi-mode fiber cabling. 
B. Using switchports for this reason is unnecessary, because Aruba Access Points typically use an AC to 
DC 
power adapter to draw power. 
C. PoE or PoE+ enabled switchports are rarely used given concerns about causing electrical interference, 
with the data also carried over Ethernet cabling. 
D. Most administrators use PoE or PoE+ enabled switchports to provide both Ethernet connectivity and 
power to the AP. 
Answer: D 
 
 


